

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 2, 2025

Progress	Contract ID	241213-F04		P	ay Period Star	tSeptember 16, 20	25 Original Contract Amount \$4	74,857.73
Estimate Number	Prime Contracto	orSTF, LLC dba	Traffic Control	Company P	ay Period End	October 1, 2025	Net Change Order Amount	\$0.00
12							Current Contract Amount \$4	74,857.73

Approval Date		By User
October 2, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by	robert4
October 2, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	hellet
October 3, 2025	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion I	Date	% of Current Contract Amount Complete
October 1, 2025	October 1, 2025			94.38%
Co	ontract Informational Dates			Milestones

No Milestones Exist for Contract

Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	January 8, 2025	January 8, 2025
Letting Date	December 13, 2024	December 13, 2024
Notice to Proceed Date	February 10, 2025	February 10, 2025
Work Began Date		

Contract Total Pa	ay For Estimate No. 12			
		This Estimate	Previous	To Date
241213-F04				
	Total Posted Items Pay	\$21,842.96	\$426,341.32	\$448,184.28
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$426,341.32	\$448,184.28
Contract Total Pa	avable This Estimate	\$21.842.96		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSL0127	0010	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	LS	\$500.000	1	\$500.00
	0020	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	EA	\$500.000	2	\$1,000.00
	0050	6205902A	$6\ \mbox{IN.}$ WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.260	40,049	\$10,412.74
	0060	6205903A	$6\ \mbox{IN.}$ YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.230	28,314	\$6,512.22
	0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.500	6,836	\$3,418.00

Project JSL0127 - Total \$21,842.96 Overall - Total \$21,842.96

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Page 1 of 7 Revision 9/2/2025



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Inform	ation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JSL0127 IS Pavement 70-4(216) Pavement marking Pavement LOUIS from Warren County line to the Mississippi River							
Totals b	oy Job N	umbers					
JSL0127	Poste	d Item Pay			This Estimate \$21,842.96	Previous \$426,341.32	To Date \$448,184.28
Posted Item Pay Gross Item Adjustments Gross Item Pay				Item Pay	\$0.00	\$0.00 \$426,341.32	\$0.00 \$448,184.28
	Incent	ive entive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
	Liquid	ated Damages Contract Adju			\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00

Revision 5/29/2025 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSL0127, Item 6205902A, Project Item Line Number 0050, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on Retro Reflecitivity Test	robert4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0127, Item 6205903A, Project Item Line Number 0060, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on Retro Reflectivity Test	robert4	Acknowledged

Revision 5/29/2025 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241213-	JSL0127	0001	0010	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$500.00	\$500.00
F04	F04 0001 0020 616				CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.00
		0001	0030	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL 1.00 0.00 1.00 LS 1.00 \$500.00							\$500.00
		0001	0040	6181000	MOBILIZATION	0.00	1.00	LS	1.00	\$15,500.00	\$15,500.00	
		0001	0050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	917,193.00	0.00	917,193.00	LF	877,827.00	\$0.26	\$228,235.02
		0001	0060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	722,685.00	0.00	722,685.00	LF	654,912.00	\$0.23	\$150,629.76
		0001	0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	105,340.00	0.00	105,340.00	LF	103,639.00	\$0.50	\$51,819.50
	Project JSL0127 - Total Value Posted to Date as of Report Generated Date											
241213-F	41213-F04 Overall - Total Value Posted to Date as of Report Generated Date											\$448,184.28

Revision 5/29/2025 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSL0127

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	9/30/25	10/1/25	1	1.00	LS	I-70					Attenuator
0020	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	9/30/25	10/1/25	1	2.00	EA	L-70					Message Sign
0050	6205902A		9/9/25	10/1/25	1	37,829.00	LF	Ramps on I-70					White 6 inch
		MARKING PAINT, TYPE L BEADS	9/10/25	10/1/25	1	2,220.00	LF	ramps on I-70					6 inch white
0060	6205903A		9/9/25	10/1/25	1	12,930.00	LF	Ramps on I-70					6 inch yellow
		MARKING PAINT, TYPE L BEADS		10/1/25	1	15,384.00	LF	ramps on I-70					6 inch yellow
0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	9/9/25	10/1/25	- 1	4,800.00	LF	ramps on I-70					12 inch white
		MARKING PAINT, TYPE L BEADS	9/10/25	10/1/25	1	2,036.00	LF	ramps on I-70					12 inch white

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 5 of 7



Line Item Adjustments by Estimate

Oct 4, 2025

Contract ID: 241213-F04

No Data Available

MoDOT

Contract Adjustments for Contract - 241213-F04

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 7 of 7